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1 ex12.3-1.a51

8000 2 PPIBASE EQU 8000H ;82C55A 1/O base address
8000 3 PORTA EQU PPIBASE
8002 4 PORTC EQU PPIBASE+2
0020 5 IBFA EQU 20H ;PC5
6 .
7 CSEG AT 0100H
8 read 82C55A PORT A and return the data in ACC.
0100 908002 9 READ_PA: MOV DPTR#PORTC
0103 EO 10  WAITI: MOVX A,@DPTR  ;wait until

INB ACC.5,WAIT1 ;IBFA =1
MOV DPTR#PORTA ;read PORT A

0104 30ESFC 11
0107 908000 12

010A EO 13 MOVX A,@DPTR  :and return
010B 22 14 RETURN: RET
15 END
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1 ex12.3-2.a51

8000 2 PPIBASE EQU 8000H ;82C55A I/O base address
8000 3 PORTA EQU PPIBASE
8002 4 PORTC EQU PPIBASE+2
0080 5 OBFA EQU 80H ;PC7
6
7 CSEG AT 0100H
8 ;write the data in ACC to 82C55A PORT A
0100 908002 9  WRITE_PA: MOV DPTR #PORTC
0103 EO 10 WAITI: MOVX A,@DPTR  ;wait until
0104 30E7FC 11 INB ACC.7,WAIT1 ;OBFA =1
0107 908000 12 MOV DPTR#PORTA ;write PORT A
010A FO 13 MOVX @DPTR,A  ;and return
010B 22 14 RETURN: RET

15 END
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*82C55ARI=2

1 ex12.3-3.a51

8000 2 PPIBASE EQU 8000H ;82C55A 1/0 base address
8000 3 PORTA EQU PPIBASE
8002 4 PORTC EQU PPIBASE+2
0020 5 IBFA EQU 20H ;PC5
0080 6 OBFA EQU 80H ;PC7
T
8 CSEG AT 0100H

9 read 82C55A PORT A and return the data in ACC.
0100 908002 10 READ_PA: MOV DPTR#PORTC

0103 EO 11 WAIT10: MOVX A,@DPTR  ;wait until
0104 30ESFC 12 INB ACC.5,WAITI10 ;IBFA =1
0107 908000 13 MOV DPTR#PORTA ;read PORT A
010A EO 14 MOVX A,@DPTR sand return
010B 22 15  RETURNO: RET
16
*82CS55AfEI=2

17 ;write the data in ACC to 82C55A PORT A
010C 908002 18  WRITE_PA: MOV DPTR#PORTC

010F EO 19  WAIT1l: MOVX A,@DPTR  ;wait until
0110 30E7FC 20 INB ACC.7,WAIT11 ;OBFA =1
0113 908000 21 MOV DPTR#PORTA ;write PORT A
0116 FO 22 MOVX @DPTR,A  ;and return
011722 23 RETURNI: RET

24 END
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